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Instructions for the candidates :

1. ST QEIENT ¥4 T 5K I 3
Candidates are required to gwe ther answers in thew oun uords os for &
practicable.

2. EH IR AT w AE i 3w o e w0 E

Figures in the nght hand margn indicate full marics

3. @ SFNI ¥ GEEE WR F AT W ¥ 15 Gez & 5EE a=% A
T &
15 minutes of extra time have been aliotted for the candidates to read the questons
carefully.

4. I% 9¥799 3 GV § &, WvI-I 0T GAVE-T/

This question paper 1s dunded into two sections — Section-A and Section-B
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Wﬂﬁmm;mmm'mwmm-mﬁﬁ?wm?p
v Se/at oty o7 7 7/ fo W ST & EIREAT / WTR 9OTd [ WY/ angy
aft 87 QMR TAT-9WE § Uiy €A T &, WET SOVWT SRV WA

hmhm“w—wquumcw
40 questions are o be ansusred. Uacnﬁd:da:rmmmtthandom.nh\._
then answers of first 40 questons wsll be evabiated only Each queston carme
1 mark. Darken the corde ush blue / black ball pen agamnst the cormeat optor; on

OMR Answer Sheet provaded 1o you Do not use whitener / liquid / blade / naf)
Mummmmm“nﬁuhmu

6 wvg-x § 28 AY TA00 gyx #1 @ s WA wiaw e ¥, 7907 TR RO R
@ 707 T faw ¥ }) ww v (Ve A, (ReA TR @d %A fars) w
T I i sRr s R aNw s b A FAE may §
s TR s e ok fes § ao ifas srea %, 20K TR 7roa &
c7 257 T fawry & # e v & O% 3905 o & BT 6 9%, ey
FTER 03 7 fawrT 7 = s A% 5 b1 5w fave (WHAw e, TR v
X AT AWA) 7 UE-T® 5 #7 I LT e ki
In Section-B, there are 28 short answer type questions. Ou! of these, eight
questions are from Phgsics, seven @Questons are from Chemistry and seven
Guestions are from Blology Four questions are o be answered from ench subec:
{Physics, Chemistry and Blology)l Each guestion carmes 2 marks Apart from
these, there cre 6 Loag Answer type Guestions in wihach two guestions each from
Phygsics, Chemistry and Biology are there Long Answer type Questions from
Physics cames 6 marks euach, and from Chemistry and Blology carmes § marks
each Answer of one guesthon cach from Physics, Chemistry and Blology :s
compulsory.

7. R Sa ¥ FHeha® 39T W 5a SaT aad d
Use of any electronic apphances ts stnctly prokubited.
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oYY T muﬁquﬁwmhmi#ﬂﬁﬂmnﬁwmmhmm
& mre o fre= fro o § Frd & ow w41 S0 AT YR T W fawes a1 oum

40 x 1 = 40

WYY - ¥ / BECTION - A
H'F]ﬁﬂ U¥A / Objective Type Questions

¥z a7 RifgFm &1

Question Nas. | to 48 are of objective type Answer any 40 questions. Each question has

four options out of which only one is correct You have to mark your selected option on
40~ 1 = 40

the OMR sheet.

| ]

¥tz @ Cretfafya | fed amm A R 2

(ArY WT (B) T

c fava p) g 7ifek
Which of the following is measured by ammeter ?

(A}  Current (B) Charge

(C)  Potential (D)  Electric power
T 3TET A faga S @ aifaw A | aver 8, dan

(A] AT By faga A1

(€] ATy 3 fagm W gA D) ¥ ® PR A

The device which converts clectrical energy into mechanical encrgy is

(A) Generator
(B) Electric motor
(C) both Generator and Electric motor

(D)  none of these

Tqm &1 q7 ¢
1,11 1_1_1
e u*u S/ (Bl v u f
\(% i+il—l (D} _l.+l=-!.
f u v S v u
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Mirror's formula is

< |-

(B)

<l-

+le
u

<l—

< |-
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.1 D 4
v G 7

C |o=

(€) }+

o Pree o S o Pt § Rew o & g germ e & 2

g

(A I B A
IO T (0) IEAER
Which of the following lens is used to remove short sightcdness ?
(A)  Convex (B) Concave
(C) Bifocal (D) Cylindrical
5, vamtE sfufwa § v o at e F Fw A
A RS B) IOX
© fvens @ Iar 2= (D) T & g
The substance which takes part in chemical reaction is called
(A)  reactant (B) product
(C)  both reactant and product (D) none of these
6, WIREWMAML ?
(A) FTHE (B &R
€ T (D) THAEN
Tooth paste is
(A) acidic (B) basic (alkaline)
(C) neutral : (D) all of these
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7. Fafataa g e fogy o o k)

7
(A} TEERT B)  ®0R
ey uEz (D) NI
Which of the following is a good conductor of electrniaty ?
(A)  Sulphur (B) Chlonine
(C)  Graphite (D) lodine
8. frafefun o af7 waifer= wg b )
(A)  =CHO B »>Co
ACI - COOH o) -0-
Which of the following is a carboxyl group ?
(A) =CHO @) »CO
(C} -COOH Db -0-
9. fragwm vk
(A) AR H By AR H
€ v-afwm ar | D) FHERE

Switches are sct
(A)  in cold wire (B) in hot wire

(C)  in underground {earth) wire (D}  in all of these
100 Mg an s FAF IR AL ?

~A 9Ziferam |) @
© g (D) W g
Which of the following is not the source of non-rencwable energy ?
(A) Petroleum (B) Coal
(C) Biogas (D) Natural gas
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1, wpa o g fre o faad maifun R 2

(A) Sy TR LG

(VI S Dy IEOR

To which of the following is human kidney related ?

(A} Nutrition (B)  Respiration
(€} Transportation (D)  Excretion

PR 4 R G

(A1 wfts . (B dfrw

€ wu oy

What is found in hydra ?

(A} Brain (B) Nerve

(C)  Mouth (D) Tentacles
13. W @ et mm w

A) whTmw_ B fool T o

© ot i fean o 0) ¥ AWt TR

The rays of light travel in

(A)  straight line (B) oblique line

(C) any direction (D) none of theae
14., Frafefaa % w19 &= ) ama w uew 2

A & (B) UK

40 IR (D) I

Which of the following is the unit of power of lens ?

(A) joule B) watt

(C) dioptre ' (D) erg
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15, frm 0 @1 faaem =pan f e 7

T B) W
i) e o) AT
The deviation of which colour is mimmum ?
(A) Red (B}  Yellow
(C) Blue (D)  Vialet
16, {78 R fwm ww W A ara A k7
(A)  EEEr v upr fr wm
€ (A 3 (B) T o) VA E

Which type of current is obtaincd from a battery ?

(A)  Alternating current (B)  Direct current

(C) Both (A) and (B) (D)  Nonec of these
17, frma 9faf & s A W e & ?

http://www.bsebstudy.com

T o i el B fsEeme
(C) RIETRIN D) ¥ & & A
The green colour of plants is duc to the presence of
(A)  Chlorophyll (B) Leucoplast
(C)  Phytochrome (D) nonc of these

18. O o IAT 9T &

A) TR | =
(g~ D) WIS
Excretory substance in plants is
(A) Gum (B) Tannin
{C) Resin (D)  all of these
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19. ¥ wty a1 Frwior P w2 o o A€ 2

A IR (|) FIGEE
€ TAA (D)~ AT
In which state is Tchri Dam constructed ?
(A)  Uttar Pradesh (B) Uttarakhand
(C) Rajasthan (D) Madhya Pradesh
20. Frefefaa § fawd swor s adi gt ¢ ?
(Al CO, .B) SO,
) co | 1>
Which of the following causes acid rain ?
(A) €O, B) SO,
(€} CO (D) CL
21. W Aa-a=qH & forg I @ offew A ¥
A TE (B) T=HI
©, (D) G
Ultimate source of energy for all living organisms is
(C) Sun (D) Coal
22, faerazr 4 e A @ Ty TR W 2
A 2 B) 8
() 10 ' X" 6

[212] C (7038-C a3 Page 8 of 20




How many pawrs of spiracies are found in ¢ kroach ?
(A) 2 v 8
< 10 D) 6

21, Www HverT @ o R

(A FEH @ N
Lo R N & (D) qoefaat |
Photosynthesis takes place in

(A) Fungi (B)  Animals
(C)  Green plants (D)  Parasites

24 WAUR FAW TN FARZEZ F uiEeT ok

(A) TR F ¥ A (B) WRM& & H

(C) TRAFFIH (D) FFAEFFIH

Transportation of carbohydrate through phloem tissues takes place in the
{form of

(A) Glucose (B) Fructose

(C) Lactose (D) Sucrose

25, FAEN 2H, + 0, -+ 2H,0 ¥ TF

Ay~ wErm sfvfwa B) fagra sfvfeq
(C) 3awm safwa (D) IR JfvfFa
Equation 2H, + O, -+ 2H,0 isa
(A) combination reaction (B) decomposition reaction
(C)  precipitation reaction (D)  neutralisation reaction
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26, TEEW & TattE g Pt ek )

lAl CJ”_\O". {BI Cb“flob
.le ' CGH 1300 [DI Cfllib
Which of the following is the chemical formula of glucose ?
(A} C,HOH (B)  CyHeO,
27, W®ifEER N g wewn
B 11 (B) 14
< 17 (D) 20
The atomic number of sodium is
(A) 11 (B) 14
€ 17 (D) 20
28, W19 S g e & )
(A) R By 3imiem
() & (D) &t

Most of the nutrition in an amocba is

(A)  Herbivores (B) Holozoic

(C) Omnivores (D) Autotrophic

29. 3Ed WRON F w9 A F W A
A Il

€+ &R vy

B) 3fwg g

0) fox ug
The clement of first group of the periodic table is
(A)  acidic metal

(B)  inert gas
(C) alkaline metal

(D) alloy

[212] C [7038-C 413
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31

32,

frafatga 9 %3 oyfre v 0 k2

(Al g (H) Ll

) fagt qpy W
Which of the following is not a natural resource ?

(Al Atr (B) Water

(€1 Sail (D}  Organism

qwm F gt & feerd ok 2

(A1 JdBr 2
Cy 3 o) 4
How many laws are there of reflection of light ?

A} |y 2
i) 3 (D) 4

v W wrarga: e fEw wmn g

(A] WL F T A B) A& FUH
) ufvm & wq g AR} CmEgH
Wavelength 1s generally expressed as

(Al candela (B) joule

(C) ampere {D) angstrom

Freferfa & frm wrq @ e A T A 2

(A) |) &

IS 2T <o fofaswa
With which of the following metals is solar cell made of ?
(A) Zinc (B) Gold
(C) Platnum (D) Silicon
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34. fafafmga § w1 g ¥ 2

(A HClI (B) NaOH
(C) K,S0, D) NH,OH
Which of the following is a salt ?

(A) HCl (B) NaOH
€y  K,S0, (D) NH,OH

35. frefefaa @ wa vt v @ k9
N fatamm B gt

(C) frfaas Dy N

Which of the following is the heaviest metal ?
(A) Lithium (9 Uranium

(C) Centim (D) Iron
36. YA % U 3o faer weoworew @ koo

Ay 2 B 4
€ 6 oy 7
How many covalent bonds are there in one molecule of ethane ?
Ay 2 B 4
) 6 Dy 7

37. fed raefm e wn k2

(A IOUF B) OF 1]

(C) ¥ (D)  ¥mm

Which is called chemical messenger ?
(A)  Stimuli (B)  Digestive juice

(C) Hormone (D)  Impulse
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39.

40

4]1.

R ncie i YA A e wed A
STV <20 B) TEE

(<€) mfra (D) Tf=m
Who wrote the book The Ongin of Species’ ?

(A} Darwin (B) Lamarck
(€}  Opann (D} Weismann

hﬂ%ﬁnafa'am:mwwmsﬁrrmkf

(A) ¥ |
() ®m Dy frra

In which of the following media is the speed of ight maximum ?
(A}  Glass (B) Water

(C) lIron (D) Vacuum

=T 1 s, wIw g

A)  FT= B =
(C) T D) &=
S.1. unit of potential difference is

(A) coulomb (B) volt
(C) ampere (D) ohm

AT I T TEIAAEL ?
(A) #FnH (B) %Y

¢ gqu=H pr° A
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2
Where is reproductive argan found in plants

o0l s
(Al In stem B Inr
fruit
(1Cl In Nower (D) In fru
: 3 R : y - 4 ll f 1!:7 m
42 "ﬁ#mﬂmryﬁmatf:mnﬂfm@:mru‘ﬂi ?
(A) M ® T

C) ¥R (o) T 3

-

- ' tics ?
Which plant did Mendel use for his expenments tn gene
(A} Neem (B) Rose

(C)  Pea (D}
43, aftfedawt 43 9 34 @ o fEw m R g k 2

Chrysanthemum

(A} TwfEEG B fafewma

(€ @ ) fwt oft fean /@
In which direction does encrgy flow in an ecosystem ?

A} Unidirectional (B) Bidirectional

(C)  Multidirectional (D)  Non-directional

44, AT A o A R
(A} AgizE & fraet waw | (B) TYEIA & I TAK H
(C) AYHITA F Wa FAE | D) TS A FF @
The ozone layer is found
(A) in the lower layer of atmosphere
(B)  in the upper layer of atmosphere

(C}  in the muddle layer of atmosphere

(D)  none of these
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45 ™0 A
W W b

- Foneme s
(AT
‘\) B "3
) .
Dy 2
By which of

the following gases are exchanged in plants ?
(A) Sll‘}mn[ﬂ

(C) Stem

(B) Roots
- (D) Shoot
46. hwummm'mfmmmk ?

(A P 4B

(ST (D} S
Who has the fastest heartbeat ?

(A} Whale (B)  Rat

(C)  Elephant (D) Human

47.  FM A 0 TF0 vEn @) agpa wod (s @1 A @Ak
http://www .bsebstudy.com

(€ g D) ¥= 8T
Which type of nitrogenous wastes is excreted by living organisms ?
(A) Ammonia (8]  Uric acid
(C)  Urea (D)  All of these
48. d® d3 F AT U FoE 1R @ Fed &
\th" AHHA B A
© ¥ (O ¥ A F A
The structural and functional unit of nervous system is called
(A) Nephron (B) Ncuron
(C) Cerebrum (D) nonc of these
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Wvg - ¥ / SECTION - B
vifaw nrea / Physics

AY TATG UTA / Short Answer Type Questions

mm:#anwmhmf&fl??dwﬂtmﬁmm&ﬁ?
2 3% Fratfra b

Question Nos. | 1o 8 are Short Ansuwr Type Ansuer any 4 questons Each question

carnies 2 marks

Mty ot am b ) ow e o @ mEen foan 20 om K A GEEY BER o)

~3

Lol

‘l:-'

‘lq'-H

-

d

What is sphencal mirror 2 What s the focal length of the sphencal mirtor whose

radius of curvature ia 20 cm ?

I B e en wd o wm b )

Why is convex lens called converping lens ?

ety fEiermemt

What are the defects of vision ? What are its types ?

I W W i e ast g b 2

Why is the colour of clear sky blue ?

fowt werw w1 sfv fe wred @ Bndr wT k)

On what factors does the resistance of a conductor depend ?
faga witzg 5t faves aem w1 w R )

What is the role of sphit-ring in an electnc motor ?

veaEAT W Ud fe) v ] s ey

Distinguish between alternatng current and direct current.
5w & o W e

Write Ohm's law.

L=
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. nd 977 / Long Anawer Type Questions
oA FOH 9 M 10 2 Tirfra uwy by ot fucw v @7 gT €1 ORI WV & Foy
6 3% frutfra #,

Question Nox 9and 10 gre

J'G'G

Long Ansier Type questions Ansuxr any one of therm. Each

question carmmies 6 mark s ] s6H= 6

4
Wnte the B1 unite of remstance and potential difference  Explain the
venfic ation of Ohm's law
10 faet @y wrem o f

a) HTAHE M & T g oim % #0 0 wa fem omm b g
b) INE g o T g mrr & s vt fem o 8

c) MIUA U7 ) TS e w1 i fgm wm b 7

Explain the reasons of the following

al Why is concave mirror used as shaving mirror ?
bj Why is convex murror used as side murror /7
<) Why is concave murror used in solar cooker 7

TRIGA 7T¥A /| Chemistry

quﬁum / Short Answer Type Questions
Oy Woar 11 ® nartnqswﬁrhnﬁ#fiﬁmﬁ&mhm&um*fnv
2 3% Froffta &1 4228

Question Nos. 11 to 17 are Short Ansuer Type. Ansuer any 4 questions. Each question

cames 2 marks. 4dx2=8

11, frey shviFmat & fem afea Taaiae wEETS R0 I+

a) s « faeay ag22 - (7% g2 .« e

bl WIZWN . T, WIETR OFFEFTS o EOEOA
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Write the balanced chemical equation for the following reactions
Al Zinc + Siler nitrate -» Zinc nitrate + Sitver

b Sodium *» Water -» Sodium hydraxide . Hydrogen

12wy aetz @ e frea i dm b 2 .
The aqueous solution of sodium carbonate is alkaline. Why ?

13wt n oend vd wgwn & 9@ Q) s & 2
Wnite two differences between minerals and ores.

14 wWEq BUGH wrwaraw dfnw w@Em t ? 2
Why does carbon mainly form covalent compounds ?

15 Wmﬂﬁmmls.ftﬂrmmﬂmqﬂmm
®k 2

What is the namec and atomic number of the clement having clectronic

configuration 2, 8,7 ?

16, @R 3 w79 & [ sttEw & fou wdim f@fa 2
Wnrite the equation for the reaction of Plaster of Paris with water.

17. T3 WO & A FX0 WAIEE € ? 2
What steps arc important for forest conservation ?

¥d Iwite v Long Answer Type Questions
o¥T §EaT 18 UG 19 3d w1y ® fawt vw w7 IA¢ T O}® 0T & fAv
s 3% Fraifta &1 1xS=S
Question Nos. 18 and 19 are Long Answer Type. Answer any one of them. Each question

carnes 5 marks. }x5=5
18, WIS T ¥ 2 ¥ @E @ R v k2 5

What is saponification ? How does it differ from esterilication ?
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19 FERI A g ow S wd

i

L]
=g

n  CE R
wH {a) CaS0,.2H 0

w YRwayp
L b  CuSO,SH,O

(w) AT F <t NaHCO,
) T oW id) Na O, I0H,0
m Pz e}  Na;SO, 104,0
Match Column-l and Column-l1

Columa-1 Columa-II
{1 Baking soda {a) CaSO,2H0
(o) Washing soda (ty CuSO, SH,;0
(]  Globar salt ¢} NaHCQO,
(v} Blue vitnol {d) Na;CO, I0HO
v Gypsum (e} Na,S0O, 10H,;0

g fas= / Blology
WY TATT TF / Short Aaswer Type Questicas
O¥T §OT 207 zsataqmﬁrhnﬁ#ﬁ#iuniimi:mmtﬁw

ﬂﬁm?l éd:2=8
Quesnon Nas. 20 to 26 are Short Ansuer Type Ansuer any 4 questions. Foch queston
cames 2 marks 4xl=58
20 ETW ST W b ) {EE TREEE SR o | 2
-

What is photosynthesis ? Wnite its chemcal equation

L)

21, NTF A OF 8w & HK o

Write any two differences between respraon and combuston.
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: 5 g fard .
2w & ufore it & wew ayata 4k 7 e 2 vzt & wd e 2
1an beings ? Write the

What are the components of the circulatory aystem in hun

funcuons of any two componcnts

vy ETA W) ftaen &1 3R TR w7

>

Define excretion. What are excretory products ?
24 w:lsﬁﬁwmﬁwmu#aﬁﬁmt ?

How does chemical coordination take place in animals ?

25. mmﬁmaﬁmm%wmt?

uction in comparison to asexual

2

What are the benecfits of sexual reprod

reproduction ?
26, SftdT } wwozE! Wt @ w2
What is the role of decomposers in the ecosystem ?
#id 39fT W¥ / Long Answer Type Questions
oy woar 27 0 2sﬁtfzaﬁvhrri#ﬁm?wmmifmm*ﬁv
s 3% fraifta #1 I1x5=5

Queshion Nos. 27 and 28 are Long Answer Type. Answer any one of them. Each question

carmes 5 marks. 1x5=5

b7 i @ (A od s R SR e ¥ 2 5
How does formation and depletion of ozone take place ?

L8, WG ER T v weem & f Fie v ¢ 5

With the help of an experiment show that chlorophyll is cssential for

photosynthesis.
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